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yazt 8,913.0 610.5 157.0  6,226.8 91.0  4,969.0 1,166.8 1,116.8 800.0 2.0 23,827.0 6,544.5 84.79 75.75
ZALH T AR 1,922.3 130.0 43.0  1,415.5 24.0 1,078.0 313.5 227.3 103.5 3.0 4,369.5 1,169.0 86.17 77.21
AR T AR 610.3 31.0 10.0 440.0 6.5 331.0 102.5 82.8 46.5 - 1,401.0 427.0 84.17 72.45
Bk AR 1,116.3 75.5 31.5 675.0 15.0 581.0 79.0 159.3 175.0 - 2,900.5 869.5 80.91 73.71
PR T 7ERE 747.0 47.0 14.5 539.0 10.5 401.0 127.5 88.5 58.0 - 2,058.0 554.5 85.90 76.04
BT T R 372.8 25.0 8.5 288.5 6.5 173.0 109.0 46.3 4.5 - 853.5 243.0 86.18 75.45
B SR T AR 158.3 8.5 6.5 126.0 - 86.5 39.5 17.3 - - 470.0 123.5 87.96 76.91
=i )5 AR 1,042.0 89.0 12.5 734.0 5.0 578.0 151.0 104.0 102.5 - 2,872.0 808.5 87.59 75.38
FERE T AR 151.5 17.0 - 86.5 1.0 82.0 3.5 18.0 30.0 - 369.5 127.5 82.78 70.09
LM T R 299.8 17.5 6.5 242.0 1.0 141.5 99.5 21.3 13.5 -1.0 952.5 227.5 91.93 78.64
T T AR 127.3 8.0 0.5 95.0 0.5 87.0 7.5 13.3 10.5 - 516.5 108.5 87.76 80.64
EEMIT AR 247.0 28.0 - 158.5 2.0 151.5 5.0 35.5 25.0 - 783.0 192.0 81.70 79.05
2T ER 575.8 44.5 6.5 433.8 6.0 343.0 84.8 73.5 17.5 - 1,690.5 482.0 85.51 74.50
e T R 622.0 26.5 4.5 407.5 1.0 401.0 5.5 97.5 86.0 - 1,323.5 347.5 80.69 76.09
TEUE N 7 2R 100.0 6.5 1.0 60.0 2.0 58.0 - 12.0 20.5 - 628.5 201.0 83.33 69.21
S5 LR 88.3 .5 1.0 71.5 - 61.0 10.5 7.3 6.0 - 507.0 89.5 90.79 83.04
R T AR 165.8 13.0 1.0 100.0 1.0 97.0 2.0 30.8 21.0 - 682.0 136.0 76.48 82.11
EE T ER 70.8 8.0 1.0 55.0 1.0 45.5 8.5 4.8 2.0 - 151.0 49.0 92.05 73.51
L TT AT 150.8 9.0 3.0 104.5 1.0 102.5 1.0 26.8 7.5 - 372.0 115.0 79.62 72.31
E M T R 167.8 8.5 3.5 91.0 3.0 88.0 - 30.3 34.5 - 400.5 134.0 75.05 69.54
HeE T AR 160.5 15.0 0.5 93.0 4.0 72.0 17.0 17.0 35.0 - 457.5 120.5 84.55 77.05
B T AR 17.3 0.5 1.5 10.5 - 10.5 - 3.8 1.0 - 68.5 19.5 73.68 74.45
#; EAR[EIHARR (%) 2.07 -5.05 -16.0 1.72 22.15 -2.22 20.91 5.01 12.20 -50.00 0.56 -1.46 -0.41* 0.28*
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